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101|R#A7 L 1,014 437 577| Kg |EE 1,188 107| £ 1,944 432
102|357 L 2,552 2,552| Kg S - BIE 3,791 579
111|&EEF £ 382 376| Kg |EE 162 S40 1,836 324
113|RAV S 193 191| Kg |EE 648 325|7&5& 2,484 972
114|B5EFE 292 18 274 Kg |ERE 1,296 1,080 |82 2,538 216
15[ 1= 2 2 Kg |EfE 1,296
117[1E 525 135 390 Kg |EE 1,620 98| £/ 3,780 486
121|rblE &€ 108 61 47| Keg |EE 1,080 162| ) 1,080 217
134[#= = 496 324 172| Kg |&) - £ 2,376 1,620 5% 2,484 1,620
137|&F8.5 < 11 11 Kg |BE 756 324
140(5 I 9 9 Kg sl 32,400 17,626
147|EZ O 112 112| Kg |EE 5,400 3,780 |8 - il 13,500 5,000
158|EIEA A LS 413 413|  Kg BRE 1,944 194
201{Lvb L 954 954| Kg BE - T 486 180
203|/hd L 118 118 Kg R 378 313
205|3.3 L 1,213 1213| Kg R 666 180
206| = 1F 895 895| Kg B 648 302
207| & A% 40 40| Kg imE 729
208| Mo % 427 427 Kg ML 1,512 454
210{1F AL 418 348 70| Kg |EIS 4,860 1,350|£15 1,685
212|&5E.3 Y 213 213|  Kg Ko - BiE 2,592 1,080
251|< £ <3 545 286 259| Kg |&E 2,765 1,944 | F 15 3,996 3,942
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254|ED12ELCA 737 7371 Kg AR L 2,408 756
3031 A 7Ly 16 7 9l Kg [R&H 299 BJE 720 506
305[£Aah 0% 7 71 Kg . 5,940 2,700
306|L e k) 10 5 5| Kg [R& 415 R 815

315|7: B9 6 162 71 91| Kg |&S 2,376 = I 2,916 1,620
319[xHh v 77 77 Kg =B 1,620 864
332|113 WA =EF 112 112] Kg Bl = 2,268 2,160
351(4EH 78 78| Kg BE 12,420 3,564
35411FxE<Y 57 40 171 Kg |F% 1,296 = 1,620 1,404
355(mp Y 350 60 2901 Kg |EH 1,296 756 |ZH0 - FE 1,620 600
356(L L& 40 40| Kg SER 1,512 1,080
357|7RE 43 43|  Kg FE 1,728 648
358|KE 10 10| Kg FAN 1,836

401|H W 50 50 Kg A0 2,000 1,620
4025 E 15 151 Kg F A 5,616 4,860
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BO4|AHED A L 27 27| Kg =] 1,079
507|@—/L Ly 10 10| Kg FE 702
512| A& AL 20 20| Kg b 1,390 594
523| AT 2 O 252 252| Kg =] 3,600 1,188
558| 19 19| Kg b 1,242
560|487 2 204 204|  Kg =] 2,680 250
566|4R A < 10 10| Kg b 4,000
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70110 BA 3,641 2,603 938 Kg |E&E 5,431 1,145 k& 2,484 1,944
704\ LETF 6 6 Kg =) 1,836
710(2 2 AT 53 53] Kg Ko 1,440 1,080
BlEFAI L 23 23] Kg SR 3,564 960
755|FH&» C 33 331 Kg EE 648 524
56| £ T 23 23] Kg E=AES 1,023 1,008
76l|b Y AEE 23 23] Kg FJE 3,471
B01[IBAL = 1S 244 244  Kg B =2 1,728 194
805 = 1E 527 5271 Kg bF 972 579
810|BAKTF 164 164 Kg & 2,700 1,674
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